
*ANSWERS 

1. a – 4 cubes; b – 3 cubes; c – 6 cubes  

2. Adam’s object is the orange juice and Tara’s object is the glue stick.  

3. Abdul is correct because the height of the present is approximately the same as the box and the width 

of the present is approximately half the size of the box.  

**ANSWERS 

4. a – 13 cubes; b – 5 cubes (if not creating the shape any higher); c – 18 cubes  

5. Lola’s object is the can; Seth’s object is the microwave; Lizzie’s object is the briefcase.  

6. Alisha is correct because the height of the cereal box is the same as the packing box and 

approximately 8 cereal boxes will fit in the box. 

***ANSWERS 

7. a – 6 cubes; b – 5 cubes; c – 32 cubes  

8. Ned’s object is the briefcase; Steph’s object is the cereal box; Max’s object is the pencil case.  

9. Tom is correct because you can add a second layer of cans as the height of the tin is approximately 

half the height of the box. 

 

CHALLENGE 

 

 

 

 

 

 

 

 

 

 

 

 


